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1. Unpaid calls are
T AT
(a) added in called-up capital
o T G B S
(b) deducted from called-up capital
oy T o Y e o 8
(¢) deducted from profit/as § g Ferl S 2
(d) None of the above/@"ﬂ?ﬁ ¥ g i T2
Ans. (b) : 3&T AEAT (Unpaid Calls), a1 =0 iGﬁ i
¥ R I 2 9 P9 o A R gem oM
HET T 2 2, A ST A 39 SN P & F @
ST 8, I STARTE AT FE A E | TH @ F 9N H;
frg & aife & o o & 9 s @ S 2
2. A department transferred goods to B
department at cost + 25%. Out of it, stock of ¥
10,000 remains with B department. Therefore,
the amount of stock reserve will be
A TO9TT 3 AR + 25% WX WIS BT A=WUT B
faumr &t feram 3@ @ 210,000 T =ik B
faumT & s=r Sar €1 3: i Wod i Wt
et
(a) 2,500 (b) 2,000
(c) 3,000 (d) ¥ 3,500
Ans. (b) : A {39 F @ + 25% W ATA T AR B
forsm 1 foRam1 s & 10,000 1 =i B fawm § &=
ST &, T -

10,000 x 25
100+25
=32000
3. Hire-purchase price of a machinery is 330,000
and its cash price is ¥24,000. Payment is to be

made in three equal installments. State the
interest of second installment.

Tk WIf ar feRtman-shar Todr 330,000 € 3R
AHT ToT 224,000 1 T 1= T foweat |
BT ) faeitr fop =a1 sarmet sz
(a) T 1,500 (b) % 3,000
(c) 2,000 (d) % 2,400
Ans. (c) : T 7909 1 FRET 9 g7 30,000 2 37
U Te 24,000 B T G GHE Fvdi & & g,
aa'_
FA S AT = R 57 9 - Ve oo

wig 999 & TR =

= 30,000~ 24000

=36,000
foryd &t TR T g9 T THY T 8§ W- (AN &
forqd stum 3:2:1 # sfer St 21

3d:
FLERE WWGT=6’OO6OX2

=32,000
4. The balance of Short workings A/c is shown in
e AT R st g O T s &
(a) Assets side of Balance sheet
i frg o wmafa 9t
(b) Liabilities side of Balance sheet
affe fag & afae o1 |
(c) Debit side of Profit & Loss A/c
981 T & Sfoe vt §
(d) Credit side of Profit & Loss A/c
9B WA & hfee o |
Ans. (¢) : TIFE @I H FH gE A B AH-FH @
& e w # framr S 2 g af @ SR
Yo @ A TR F F erafafad (Write off) Fd 9
T8 €A T AIfeT fob gqet 3ot & Tfer srufefad
s e foh AfeR es & T =Ea R & af
T H A T S agEE R R sTfatad & H
Fruffed srafr wora @1 ST 8, @ e Of ww @
FE @I, A B &, AH-BM @ H TR H
ST 2 1- -
Profit & Loss A/c Dr.
To Short workings A/c

(Being unrecouped balance of Shortworking transferred
to P/L A/c)

5. In partnership, unrecorded liability is shown in
new Balance Sheet in

wrger ¥, srffiaa aife @ T st g
¥ fe@man e §

(a) Assets side/dwafd g&1 |

(b) Liabilities side/aa ga1 |

(c) Both sides/a1 weli #

(d) None of the above/39dt H & ®Ig el
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Addai2H

Ans. (b) : SRR #, sfafed afad & e @ oAk
R e @ @ Al agel @ # e S
21 3 U Ao B9 €, e aar gae & e fag |
T 2, W TUH % 9, R geel gebed % wHE &
e fruifRa 89 % %0 § 98 %H & e 99 S SE-
Hfey e (Contingent Liability) 319eT feamereds
T & I R
T oA H U o S T 2wl & e
T T 21 I T oTEe # ARk FE U A e
B 8 S anfe fag # 3 @ A 3§ wERw ww
e fag & afam oo & i foram S
6. Profit or loss on revaluation will be borne by

QAR X ST AT JT( Sl 8 TeRar Srenm

(a) all the partners/q4t TEER g

(b) the new partners/:ra RIEC AR

(c) the old partnersﬂj}ﬁ RIEC AR

(d) None of the above/@"ﬂ?ﬁﬁﬁﬁqﬁ
Ans. (¢) : THEFT T A9 A1 71 H [WH TR 5/
T 5 S ]| T WERR % 599 W qer IO SEER
F I W A1 freft TRRR @ stEwe W ogHen wH &
gt SR afEt &1 e B A a1 g el
STt 2, PR QO SRR % St @ @ ey S
# g X fear S @)1 sue faw uw @ A
ST 21 8 Qi @ A1 e-gi gurEsE @i
T ST 2|

7. If closing stock is shown in Trial Balance, then
is should be shown in

gfe 3rf~aw TEfaam aeue & 3r<T fe@mn W

7, 39 fe@ma s

(a) Trading A/c/ZT9R @l §

(b) Balance Sheet/amfds fag &

(c) Cash A/c/AFE @ §

(d) Profit & Loss A/c/a9-gl= @ §
Ans. (b) : A% if<m Wit do9e & ) @ T
g1, 39 onffe feg & g ooy &t SR femaran S 2
Ff-F A i dove % sret o @ 81 sE
9T 2 o SUH Tedish a9 o gHIfd 8§ geel fHar
ST g 8 o 7@ TRT A A A F F werh g 2
udi g H %9 GG (Purchuse Adjusted) 1 T
qoge o & @t 81 U awn # S dae e fag

Ty ey St SR fora S 2|
8. Income is measured on the basis of
T Tt AT §

(a) dual aspect concept/fEUeT STTHRTT & MR T
(b) consistency concept
THETA TR & ER T
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(c) matching concept
STEAT STTRN & SEX T

(d) None of the above/@"ﬂ?ﬁ 79 FE 76

Ans. (c) : 3T STTEYAT I STFHROT & TR T AT A
| TREih % foTT STIRUdT P STaERT Savas 21 T6H
a1 7 gan b qw o w frafor @b 3 & g g,
v forg srafyr & forw =t & feran S ], 31 & o
TE-TE B & T 3Tl STEuar @Rl & G sTafy
F o g sTavEs 21 T fasr #1 ueH Fd g
QU eT Al H Sed & U9 Eed Al H g 2|
3 T e fia emg Wi S ? e emifia e
et I 1 Y U Wi o1afy H s o
F H STgHT B 2
9. A trader transfers 20% of his profit to General

Reserve. On the basis of which concept, he does

so?

T MU 31 T T 20% WRT | 6o

T =Rd &IaT 1 UET 98 ford STaemum o

ST UT AT 872

(a) Concept of conservatism

wfearfadr sl SaEron

(b) Concept of uniformity/Tsh&ddr & STTLRIT

(c) Realization concept/a'ﬁﬁb( I SFAYR

(d) Money-measurement concept

HET-HI9 i SAeTEROT

Ans. (2) : T SO {99 9 & 20% 9N qHE =9
§ 3R T 8, O U 98 SIS F SEERO %
YR R HIAT 21 G TIsal F wfegardy wensit & e 39
vt ¥ 8, fs mwld ufosr # @9 Al slEl & g
YauH SR G99 & S g, feg ow % o T gme
T 1 i O & qifal ¥ aee 5 ford e S g

10.

Transactions recorded on the basis of dual
aspect concept is called

feuefi sr@umum w MR SeERl & wEn
A H YU HEeret &

(a) Single-entry System/ghgdl ST Yot

(b) Double-entry System/fﬁg'ﬂ AT STt

(¢) Double Account System/gU TIAT JUTEA!

(d) None of the above/?q?i?ﬁ 7 q &g T

Ans. (b) : FwfiT sEuRIT W MR =Rl &1
FH B YT H @I @@ JUTE (Double Entry
System) FEd ¢ | TRIHT N TH FAYRUT & IR TS
dier & @l 1 JEd B 81 39 Jomell § UH ge
e qor W T FI B FFA T 2| FIwE F qoft
Hie 39 U & SAHR W & ford S 81 39 Sreunon
& S TgHY JHare o

Note-

|quTr *={5ﬂ+mﬁk_q’|
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11.  Which of the following accounts is Nominal

Ale?

frrefafaa o 9 SiF-91 AHETs @ €7

(a) Interest A/c/saTST @Idl

(b) Accrued Interest A/c/3UTSIA &1 T

(c) Outstanding Interest A/c/3Tad ATl Gdl

(d) Prepaid Interest A/c/‘{_@rﬂﬁ E2ISECIG])
Ans. (a) : SIS @Id T A0 qF AT SF-97 G
FE I 21 ¥ W AUR % =@l TE I g -
g ¥ gEr T@d @1 dad Wi, Aeigd @l, HHeE
Grdl, og1 @rdl, a1 HEEE @ a9 S @il sefe
AW @ @ A # e 2
SEfh IS 1S A, 3qd 16 @Il a1 Jaed s
QAT g SARBT WA % ST 2 |
12.

Recoupable short working are shown in the
Balance Sheet as

qA.uitaar wger onfdew fog A femen

T

(a) current assets/TTe] M Sl @

(b) fixed assets/TI T H TE

(c) fixed liabilities/®mlt TRE & e

(d) None of the above/3udt H & &g el
Ans. (a) : 9. WA A ogsE U7 & e faeg &
e T # e e S
S SR e A AR A KT @ i § st
3 @ afe aEEE U & srafefad fhw S @ sEEEe
g form aged it % sfafed few S & SEEe
?, 30 wie aesE At o g it et
(Redecmable or Recoupable Shortworing) gl STl 2

13. A Ltd. forfeited 500 shares of M of %10 each
fully called-up for non-payment of first call of ¥
2 per share and final call of ¥ 2 per share. 300

of these shares were reissued at ¥ 9 per share,
fully paid-up. What amount will be transferred
to the Capital Reserve A/c?

A fa 3 M & gfe 3891 210 ot gui afera 500
39T YW [T T2 e A0 /T T2 o A A
B9 ok SRIUT BUT oY ToTdh| 37 3fom o & 300 =AY
gfe 3f9r 39 guiga W g Wt ke T am

USft e @ ® feRat vt srafta @t wrerft?
(a) T 2,000 (b) T 1,200
(c) T 1,500 (d) ¥ 1,800

GET IT ON
Google Play

Ans. (¢) : SN o TUT | FIEf~ra o -
Share Capital A/c Dr. 5000

To Share Ist Call A/c

To Share Final call A/c

To Share for feited A/c
(Being For feited 500 Share)
39T o gATin Tl oe-
Bank A/c Dr.
Share forfeiture A/c Dr

To Share Capital A/c
(Being re-issue of 300 Share@ 9 fully paid)
Yoft Ho @ W gre -
Share forfeiture A/c Dr.

To Capital Reserve A/c 1500

(Being Balance of share forfeiture A/c transffered to
Capital reserve)

1000
1000
3000

2700
300
3000

1500

14. Match List-I with List-IT and select the correct
answer by using the codes given below the
Lists:

TeAt-1 & GE-11 & g wd gafed &g
air gferat & e fag T %e w1 gEnT W wdh
A aﬁn{ :
-1 gEi-11
List-1 List-11
A. Prepaid rent 1. Current liability/
Taed foRm a1 A
B. Bank overdraft 2. Current assets/
o arfrferepe A g
C. Goodwill 3. Fictitious assets/
I EQIECIRS K]
D. Profit & Loss A/c 4. Intangible assets
(Dr.)/eTq-gIf @ 3T Wt
(sFe)
Codes:/he:
A B C D
a1l 2 3 4
2 1 4 3
)3 4 1 2
b4 1 3 2

Ans. (b) G (1) &1 G (1) & 919 T GieA 59 TR 2-

geit-1 -1

A. g8eq foRan 2. =g FHfa

B. &% atferfeerd 1. = e

C. @ 4. 3 gHfd

D. -5+ @ (Sfae) 3. sEt gty

15. Manager's commission is given at the rate of
10% on the profits after giving commission to
him. If the profit before giving commission is

31,54,000, then payable commission will be
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TSR I HHYE, SHR! HHYE S o UgEI
& TN W, 10% St X F foar A 8 afe
e X A g @ 31,54,000 &, A T
e B

(a) 14,000

(b) 15,000

(¢) 16,000

(d) None of the above/@'{{?ﬁ ¥ g 3 T2

Ans. (a) : FHRE 3 & T¥EM 99 T YE AW W
FHE # TMOET (Commission on net profit after
Charging such Commission) -

Wzg@m(wm%lﬁ) x T A R

100 + FHIA A T/
~1,54,000x10 1,54,000x10
© 100410 110

=%14,000

16.  Opening Debtors 10,000

Sales Returns 7,000
Tererer amoreft

Bad Debts

ST BT

Cash Received from Debtors
TER | T Tehg

Closing Stock

Srf~am e

Find out the amount of credit sales.
SUR Tt @t AT A Sl

(a) ¥ 63,000

(b) ¥ 53,000

(c) ¥ 46,000

(d) None of the above/@'{{?ﬁ 7 g HiE 7@

3,000

40,000

13,000
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17. A and B are partners of 5 : 3 ratio. C Joins and

the new ratio agreed 4 : 2 : 2. Find out the
sacrificing ratio of A and B.

A QYT B, 5 : 3 % U ¥ WIEER ¢ C gavw
AT B ST AT ST 4 : 2 : 2 AT E WA B
A TUT B T ST foRa 8T SJATd AT it
(@) 1:2
(b) 1:3
(c) 1:1
(d) None of the above/@'ﬁ?ﬁﬁﬁﬁgﬁ
Ans. (¢c) : ATIT B & A9 fG9e= sud = 5 : 3, CH
YO WA, BAIT C & 71 &9 AT =4 : 2 : 2
ar -
T SN = AT ST - T4 AT

3raud
5 4
A T T UM = = -—
8 8
_1
8
3 2
B &I @M A ===
8 8
_1
8
11
m:AambaImaqgcrngzg

=1:1
As per the rule of garner versus Murray, any

loss that arises due to being insolvent of any
partner should be divided among other

18.

Ans. (b) : 39R f%a J10 & & AT Fa TR &1 @ partners in their
(Total Debtors Account) R fpan ST 21 39 @ & M S W o fraw ST, ferelt FllE?lall a;
HiEe TeT & A § ¥ e ger w1 ART H T S faferan € < HRU gE A A I WEiei
et 8, 3 SuR fashl & TR et Sar 21 SuR faskt T ST WET =y Sk
(Credit sales) Sfde 9e7 & fam@rft st 4 (a) profit and loss sharing ratio
Total Debtors A/c g1 de UM H,
Dr. Cr. (b) capital ratioﬂi}ﬁ SEEIn) H,
Particulars Amount | Particulars Amount (c) average of both ratios A w X g &
To Balace | 10,000 By Cash A/c | 40,000 F ¥ 5 T '
b/d (opening (Cash (d) None of the above/ST®
Debtors) ' recieved Ans. (b) : THR a1 W & fam & 3O, fet 9ERR &
gol Credit | 53,000 go$ ) fearferan @9 & SN0 g8 @ B 3 EEn # en-art
ales eotors 77000 . — .
(Balancing By Sales e .ﬂ ﬁ < \_’":”. T, 5 qﬁ 1 FH A
Figure) Return (In SIEEUC] gt SREIN] # 9 FT IS 2
ward) 3.000 19. Loan on mortgage is shown in
B Bad ’
DZb s SeTeh Rl SRUT femaman =T §
By Balance | 13:000 (a) Liabilities side of Balance Sheet
¢/d (Closing anfdes g & i ver
Debtors) (b) Assets side of Balance Sheet
63,000 63,000 i fr3 % wwfy o &
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(c) Debit side of Profit & Loss A/c
A9-gf @ & Sfee ey A

(d) Credit side of Profit & Loss A/c
A-BI W & hfee ey |

Ans. (a) : I¥hH W RO H I (Barrower's) %
e fag & Tfaa 97 § @1 @ & &9 § faamn
ST 8| S U (Lender's) % anfdsw 1%!2\_3 %
Tty gef & =1 wef % ®9 § foran S 2|

20. StockA/cisa
Tl @ §, T
(a) Personal A/c/=afthTd @Il
(b) Nominal A/c/AHATE QT
(c) Real A/c/ardfash @l
(d) Statement/faraoT

Ans. (¢) : Tfaar @, ardfas @i & goft § s 21
7@ TH X A W gl UH W oS R A,
e o7 SRl § gEia g, ardtes @ sed g,
e, Tl | arefes @ & YR & 2 2-

1. 1 arfeas @

11, 37 arfaeh @

21. Depreciation is caused by
BTE T T BT &
(a) price fluctuations/qJcd I=dTaaT
(b) accident/ggf'ﬂ'[

(c) use of asset/THfT T AT
(d) None of the above/@'{{?ﬁ H 9 Hig Tl

Ans. (c) : f5 < woft & 7o #, 39 R @M ¥
forgae Td & ¥ omEfd g9 ©, YT & S oW adr
3 W@@ﬁsﬁﬁfﬁﬁé, @W(Depreciation)

GET IT ON
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23. Preliminary expenses of a company should be

shown in the final accounts on
T AT o T~ @Al § YRS b s
Tergma <trar g1
(a) Assets side of Balance Sheet
anffe fog & gwafy oer |
(b) Liabilities side of Balance Sheet
anffe fog & afae o |
(c) Debit side of Trading A/c
e @ & Sfde gor
(d) Credit side of Profit & Loss A/c
A9 @A & hfee wer §
Ans. (a) : U6 ST & A9 @A § IRAEF =@ Bl
e g (B/S) & Wl et # fawren s 21 enfdfss
fag % 9mfy wr % fafqg =@ Misc. Exp.) s &
I STaTEdfaeh et 1 fawrEr S 1 g gt
Rk sfafad & fear s @1 frefafad W &
g sfivfe & femran <t @-
i. I =g
ii. 37el & forefee X et
iii, TR % A W e
iv. 33 W@ ForE & frtea w o=
v. Y-8 @1 1 S
24.

Which of the following is not a current asset?
Frefofan & ¥ SA-w o T w8
(a) Bank overdraft/Se atfifeens

(b) Closing stock/31f~H wfa=r

(©) Debtors/ST&R

(d) Bills receivable/IT faux

e Ans.(a):%m&wmﬁ%ﬁﬁmé{
| e w & 2 R 3 @ 3 W s A @HWW,WHWWW@WW
PRy F avft # wnfier fper St @1 = wefoRt 9 e At
: —— T T 8 -

22. Goodwillis a/ an -

=it ¥, Teh el DG I At

(a) Current asset/=e] FHafd WTER (Creditor) TS (Cash)

(b) Liquid asset/tel qwf 7 faw (B/P) d% (Bank)

(¢) Fixed asset/ma gaafy % fufeed (Bank O/D) | 3R (Debtor)

(d) Intangible asset/3Td 3@ & (Outstanding | I faw7 (B/R)
Ans. (d) : ST @1, T 3d gfy @rar s gof §| | Exp.) o A (Current
ST 31 3T AT @R # Svh § 3 geof % @ry|| SBW S (Advance | Investment)
a8, R w3 W @ W S GHa ge &g | [ncome) Wi (Stock)
Il YR, 9 TS R & Bar & o gHfE A gdad =T (Prepaid
aﬁaﬁ#msﬂ%@ﬁwwm%aﬁm Expanse )
Ha-facha e S Wbl @, SI9- @AM, JSAEh, UHE Affd 3@ (Accrued
AMRHR (Patent Rights), BN 7 & T | Income)
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25. Premium received on issue of shares is shown

in
39Tt o Tt o) wre iftraw fagamen strar §
(a) Assets side of Balance Sheet
anffe fog & gwafy o |
(b) Liabilities side of Balance Sheet
e fag & afae ooy &
(c) Credit side of Profit & Loss A/c
A9 @A & hfee wer §
(d) Debit side of Profit & Loss A/c
Ag-gf @ & Sfee ey #
Ans. (b) : 3791 & fima @ s sfiftem &t ofer &t
anfde foed & aifo oot # dfed wd o1 (Reserve
and Surplus) 3Se & 3fia fe@man Sm 81 39 s o
forfofad waf =t feran s 8-
1. ¥ §99 (General Reserve)
2. Uit §9 (Capital Reserve)
3. A9-81 < W (P/L Cr. Balance)
4. gfeqfd SiffE™ = (Security Premium Reserve)
5. 373 &7 T (Share forfeiture)
26.

Discount allowed on reissue of forfeited shares
is debited to
uEd 3ivit & gAfiHe W f W gE W
Sfere forarm wmar
(a) Share Capital A/c/372 T\‘ﬁ T |
(b) Profit & Loss A/c/a9-gl+ @r §
(c) Forfeited Shares A/c/3T9gd ¥ @ §
(d) Discount on Issue of Shares A/c
ster ffed W g2 @ |
Ans. (c) : 39T 3 (forfeited Share) % T i =
& MR ®e @ W T Wi (forfeited Share Alc) H
e fopan Sm 21 Serend-
3TN & B W GAFIAT ol
Bank A/c Dr.
Share Forfeiture A/c Dr. (Discount)
To Shere Capital A/c

(Being share forfeiatedre and re-issue of Share with
discount)

27. Goods worth ¥ 500 have been taken by the
proprietor for his personal use, for which no
entry has been passed in the books. This is an

w@rft grr ot fosft waeT 7g 3500 o wrf
ot 2, frgent wifgat # wig o =& feram T
TE T TH

GET IT ON
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(c) error of commission/sh{0T —Zl?

(d) error of omission/dh ‘1’@

Ans. (d) : @ g 0 7 ¥ ¥ %500 @ GmEl
oft ¢, fogen afedl & #1€ oRar 7@ fRar A, T gEm
ﬁ%@ﬁ{m"zﬁ(Erroromeission)ﬁ“ﬁl

Ift Rftws @@ § fRdt 9} 1 ar g2 T @ el
7 et 7 Rl off 1% 91 @ ¥ w1 off o a9 ogen
g, A 98 @Ed ¥ o wiEn § weeEd: @ ge S
3R 5 WAEE B FE @ @ & T8 @ 98 qoe § o7
& TE T A FE q @ 2 B THH I qAGE
F fier W T vea 2

28.

Contra entries in cashbook are made when
UHg-TE | Uia-Wrafy ot St §,
(a) Petty Cashbook is maintained

Y Thg-adr it T 7
(b) Simple Cashbook is prepared

T JHS-TET TAR i S 8
(c) Triple Column Cashbook is maintained
(d) All of the above/39th T+t
Ans. (¢) : e T wfy wfafy (Contra-Entry) @& @l
S 21 S R -3 S g9 g S A @t
F (TF H T a9 W & o) T9f3T FL @ F8 Contra
Entry Fgadl 81 98 & @F arell U a8l a1 a9 @
et s o <A1 F g et 1 gERIT @ s
(LF) aet @ # 3t & amr 'C' forg fean smr 21
I 9y o & fafy wEd 2
29.

Under hire-purchase system, the formula to
calculate value of stock at cost equivalent is

TehRtTan-oha gl & T, TINT TWded WX
T & Yoo & AT 3 G 2
(a) Selling Price- Variable Cost
fospar qea - aRadeia arma
(b) Installment Outstanding/ Selling Price x Cash
Price /37&d foh&/ fashal goa x e o
(c) Rate of Interest/100 + Rate of Interest
S i &Y 100 + S & &
(d) Actual Average Profit- Normal Profit
Al AT N - JE e

Ans. (b) : TFTT-%T TS & =i, AP TG W
wia & qea & T 8] AEfaiad 93 @ 5 e
ST 2|

(a) error of compensation/&fagfi Ife ARG TAqed W B 1 g = iad
(b) error of principle/JgIf Ife KSR S
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30. Share warrants can be issued when shares are
Ityr At foeifua foRam T @ehar &, SE(e
3iyT

(a) fully paid/{af v&d &

(b) partly paid/37if¥1esh e &

(c) lost/&T T &

(d) None of the above/@ﬁ?ﬁ H 9 i Tl

Ans. (a) : 331 3ARTT (Share warrants) &1 fHTAT Haa
gdad 39 (Fulty paid-up) & foTT gtar 1 3fw1 iferas &1
T HEA B SR AE B, W A % AR
HE HT G2 I bl 8| THH SET e 7= g
2 S @1 sl e g o T e Tt @1 gEd
fafad siell & darers & araar v & wftafad &
fepem e 21

31.

Partner by estoppel is a
Y EGIES

(a) Partner with limited power

it R aTel TreieR
(b) Nominal partner/<THHA bl TTEIER
(c) Sleeping partner/f5Te] HTEIER
(d) Partner under special situation

forom uftfRafoi # @rReR
Ans. (d) : TENY R WRIEH (Partners by Estoppel) 38
g 2, o feromy uRfefoal & 9Eer a9 forn s 2
Ifs $iE =i Hifass a1 fAfed ol & s1ear 319 SRy
§ uW @ w2 g H ae e @ S % 98
w4 wEeR 8, 70 98 WEer T 2, 70 g =fw
3 favarg W 3@ wd & mO 24 8, A ud RufEt
TS & T a8 MR FR HIRier {4 ST
32.

A partnership firm is illegal when
Tk WIgiEr W 319 giet §, 9

(a) Any of the partners is from enemy country

FIE Teh TIIER ¥ 39 F @
(b) Established for unlimited period
I8 i g9 & fow Tenfua &
(c) There are seven partners/SqH HId EIER &
(d) Registered under the Partnership Act
g1 femy FrErerd e & eria &
Ans. (a) : U6 TR0 &4 Fefiaiaa aiftufEl § sy
o S -
i. FIE TH HIPER ¥ I &,
ii. & § HA AT 50 § AUSF R T R
iii. Th o Beh Fft TR & fRanfermn a4 W,
iv. AT 5 WIRIER) % FHIT i 9T R S W,
V.B‘Eﬁ%ﬁaiﬁﬁ%
vi. TR WY smfed 3 up i ¥ favs @9 W,
vii. TS &1 GAIa 1ETg ARG S UM, A1 YT
FRUREANEE LR rd

GET IT ON
Google Play

33.  Which of the following is not included in the

Memorandum of Association?
frafafes 8 9 ®E-wr g dmr few |
ynferer = femam Srem &2
(a) Name clause/d™ 9
(b) Jurisdiction clause/&TRIHR a1
(c) Object clause/3E¥ T
(d) Liability clause/afre e
Ans. (b) : F S & SgER ume difrem
ferfefiaa 6 a1 Seord @-
1. SHFT SHT FH TR
2. e FEfaa a
3. B I IRYT A
4. I T
5. gsft
6. |
34.

Which of the following features is not present
with partnership form of organization?

frefafiaa § § SI9-91 @07 |gerd e §
fergrum=r =i €7
(a) Perpetual succession/3Tfafee ITMRIHR
(b) Unlimited liability/3TEifd afre
(c) Creation by an agreement
T T ZR o
(d) Voluntary registration/m GefieheuT
Ans. (a) : 9EIENY TSA & N H & TG A H ae
ST Hehell 8-
A. SerTferes TreruT-
i. %9 ¥ &9 I =AfBAT FI ST
ii. freft a% SRR &1 8T
iii. GOl SR WERE F g9
iv. STTT A9 HAMT
v. SRIGR & ATHl BT 9 § T
vi. T HIZeR ®H 1 TSUS I @t
B. WTHT=A T&T0T-
i. sTEfifi S
ii. ®d gare qoft = Rl W % g
iii. I IR &
iv. B4 &1 fAfved am
v. Q{ﬁﬂ?ﬂ'{? el
vi. Ffth & TRIER
vii. & g
viii. Wfeas el T G
Note- 3faf&a STMBR Heot &1 fergioar 21
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35. 'Inspiring is an integral element of

T’ we STt A §

(a) Staffing/ETHT

(b) Organizing/?::qu\Ta? ED)

(©) Directing/ﬁ%ﬁ’ﬂ Eal

(d) Controlling/f==uT =t
Ans.(c):Wﬁ%ﬂ?W@Bﬂﬂﬁﬁ%ﬂW%l e
YO F G¢ TedqUl M & S Hfed W YRR
B 81 FEYE & rla e =R R @ wfutea
feparm ST 2-
TSI (Supervision)
TET (Communication)
ﬁﬂr_q' (Leadership)
SFSROT AT RUT (Motivation or Inspiring)
36.

Strongest Letter of Credit is
YereTaH SUT fora §-

(a) Confirmed/3f¥Ih

(b) Irrevocable/3Tsfaegwofia

(c) Confirmed and irrevocable

9T T e

(d) Revocable/dfaggwia
Ans. () : ITH Td smfieela yaaad U g9 B
gl
37.

Delegation of authority makes the size of the
organization

SR ST TRTUUT TS T SRR ST &

(a) Small organization/SI2T 3

(b) Large organization/sgl §7a

(c) Very large organization/sgd &IST HileA

(d) Mini organization/37fd <& TS
Ans. (b) : 3R H IR I F=ROT (Deligation of]
Authority) G137 & 3TN I &7 o &1 AR &
ARdOT G & Seeshig @i O gr 81 g6
fafim ¥R & ARl & AfER @ Al e fe
S 8 3R a9 9 qRumEr S men Sl 21 SRt
H1 R e fomr foeft ot sifereer =l &1 ot o
F & T STRERN & 38T ST Heh T |
38.

A company is said to have been incorporated
when

Ueh ShIUAT TUTHTAT AT STl &, <&

(a) necessary documents have already submitted
to the registrar/TRER % UG 3MEvIH Yo
T & 5 R e S

(b) certificate of incorporation has been obtained
from the registrar

TR ¥ FHHAT-SHIOTTS ST 8 ST

GET IT ON
Google Play

(c) it actually starts business
I 9T | FaH 3T R S

(d) None of the above/@ﬁ?ﬁﬁﬁﬁq’ﬁ
Ans. (b) : T HW GUEf qF S €, 9@ 39 WRER
Y T JHIUT U 9T & S 81 9 WRgR B 39 A
& G & S @ N g gaie ¥ St wl
HAWF T AU e O W & T § ok W =9
HFRE % i Goigd B o & T S @ @ 98
ST T T YoRdl & Gofae S 310 U T ol 8 3R
FO & AW Y gaweH wH-ua frife & e 21 u
TS HWHT St Y uwr 7 s e 2013 &
3T9R 39 91 &I fe=ars® ST (Conclusive Proof) Bl
2 & Fl g oSl § wefe ol sravasant
Al &1 g e T @ qen geen s & &9 d
TSl B S i 2
39.

Span of supervision refers to

T STT- e | 3T

(a) number of subordinates/3TEEl & H&AT

(b) extent of supervision/Ta&I0T S HAT

(c) quality of supervisor/q"ﬁ?ﬂm EARIU

(d) nature of supervision/THIT HT FHf

Ans. (a) : eI fER (Span of Supervision) g ard
el Y T ¥ 71 TR s § e feEr g
% R ¥ v Rl % U ergedd e 9 g,
fSeeT T e T ®9 9 g9 wHeRn v e
FGHA &1 TG FE off P Yo 6 9 s
AR} & e T G T F TR B |

40.

Functional organization is based on

TeraTeer TS el ¥

(a) specialization only/%aﬁ faferfientor @

(b) generalization only/%ﬁ TR W

(c) both specialization and generalization
fafersietor wd ammieT aH

(d) None of the above/S‘Tﬂ?ﬁ ¥ 9 &g T

Ans. (a) : FRITEH® GT3H (Functional Organisation)

faferdiercor W amenfia 81 UH. Sweg, SR 3 AT T

F I G & U wed &1 Aawed A g, 9%

fparees e & 21 fparee §ed usfa wia & &

T 32v9 g d fagr @1 Wier & §1 3 g

T TR R -

i. fafrietor &1 Ry

ii. GSATHS Hege o1 g

41.

The Father of Scientific Management is
AT Tel=T T Sk &

(a) Peter Drucker/dieX g
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(b) F. W. Taylor/T%. &, 2o

(¢) Victor Vroom/faa Eul

(d) Henry Fayol/g3 ®arat
Ans. (b) : TRSE YeruwmE $efe fogan er &t
AT Fawe b1 S WA ST & | S Javel o Fygreet
H H B TeEerE g B B A S8,
iy % 14 fagrat &1 wfaures e
42.

In a sole proprietorship,
liability is:

Tehet TTTed o, TaTet <t gired e €
(a) Nil/F® &

(b) Unlimited/3T&ifHd

(¢) Limited to his share/39% 3731 d Hifed
(d) Limited to his guarantee

3Gt OS] % Hifd

the proprietor's

GET IT ON
Google Play

44. How many P's are there in marketing mix of

services?

[arstt o fergur frsror & fera P wftAfera €72

(a) Four/@R (b) Six/®:

(c) Eight/373 (d) Ten/sH
Ans. (a) : 3RS & FTRAE 9T Tl & B TA.TH.
AT 7 fague fagror (Marketing Mix) &l ReeaT TEd
F| 3TH ER 7 T G § FEed & (F) Feaqol
Al STeaT Toeahl Sl Th G 8, S fAuue shrefshd S
2 91 (@) 34 wiedl # g 2 R faave St w
T&9 T 2|
ww, o fadt 3 fuue g % =R i a g 2-
1. 3R (Product), 2. &d (Price),
3. NIcdT@ (Promotion) 4. ¥ (Place)
Note - 39 IR Tl &1 & v fasor o 4P's Fd 2|

Ans. (b) : Thd @i =Eg™ # @H &1 S
SEfifi greT @1 T AR # gSt 36 fE S e
Tgdl & S SR SR HTAT &1 ST GG q97 e &
7ot aifr S W AT € A9 9% 39 o ' % SER
T B

43.

The structure of an organization in which there
is separation of ownership and management is
called:

Teh ETeA-HeT, fed @i a gemee @t
TERT- ST TR ST &, Sheeltal §—

(a) Sole proprietorship/Tshel e

(b) Partnership/‘éﬂéﬂﬁf

(c) Company/H¥=t

45. Halsey premium plan is based on

T viftrem SeET smenfia &

(a) time taken/¥HI RISEIRE

(b) quantity of work/®E # gET W

(c) time saved/T=E THT T

(d) quality of work/@m @ TUTERT T
Ans. (c) : 2o Sfem s § fiftmw & = "= e
THT & 50% o S BIt 21 9 ArSH H 31k HrE i
W FA TRHE T & GhaT 21 9 A H s
Aok T S= & T ast U srmEEr ¥ w2
g FROT 7 T IR H T-Fe SN FEEE 98
s 8, foad wefel & o sy 9@ @ o g1 g™

, , e § e # 0T B SEE 2

(d) None Ofthé abov??ﬂﬂ?ﬁ ﬁ,ﬁ < T 46. In an enterprise, the organization is established
Ans. () : T UHl Tied Wee Sed @fia d yawee by the:
1 S-S AT ST 8§, B dEm 21 g e foreft SushT o TS S O AT 8
F wrdt fawm sw ﬁﬁfﬁgﬁ?ﬁq ?@iﬂhmz (a) top management/3=d Ja¥

& . a RS g . (b) middle management/HEIH qd¥

i_lr i?;;iﬁ?a E?ﬁ%m%? el (c) lower management/f= Yo
o e ) i P 5. (d) All of the above/39th T+t
R Y Ny G Ans. (d) : fFt ot SwER H 3=9 w9 o, 7 wWl{T
) o v A1 e 0T ey § e @ A S 2
”WW TH, I IFRR ¥ SER- CHeT Yo # U a9 &,
?11.‘1?4753?@?3 TR 3299 Yo % i B S greeree e 217
iv. FIY SR e TH W a9 § RES 5N v fed sume &
v. SR frmet 31 FERM T 4, WA T fef
vi. Giftr S FT 21
vii. ST I FEArA e 47. Line and staff organization is most suitable for:
viii. 9% G T TE e TeA He SUIE -
ix. haHT T H Al (a) small enterprises/I IUHAT & forw
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(b) medium-sized enterprises
e goft & U & forw
(c) large-sized enterprises
TS HN F IUHAT & oI
(d) cottage enterprises/FER ITHH h T
Ans. (¢) : T T FHON Ted &Y T8 HAFR &
ITHAT & T Tod UG S &1 IUHA FH STHR T,
fopamett @ fafawr o, deien Ueiarft o qor SR |
yfereqel Sgd % FRUT F AW fRA S @ f
i steme s sRw-Few & F ro-gry favy
% ®9 H F T8 B god | TH ol § 3204 et
g fafee & § goe o TR fReT) 39 e IusH §
forerst @ fgfeh @ ST ol o1 @A Yarue sHer
F ®Y § M I AN AN WH HUER T HEBA
v @ Iy womr 39 w1 e o e d
o et FE eifYE FUAd § FX HH| 39 AET &
o ot foomar a7 @ 5 feist i daneti & oy o
e foher ST 2
48. Marketing deals with the study of:
fagum frefafaa & 9 feae e @
HraTferd §?
(a) consumer buying behaviour
YA H 5T T TR
(b) sales management/fasha Jerve
(c) consumer's satisfaction/STHIH & F(E
(d) All of the above/39th T+t
Ans. (d) : 9% 379 H fquur gfopan Suihr &t S1frefy,
HYME, A M F W IR B 7 AN ITH Rishan
e 7 S Wl 7, ol favue wfmer # s
F AT H AT B F UL FEA T Farsi
&1 fafomfor fpan o 2, S9% W© fawr gwen g7
fpay GfY J& FX gU SuHIHS Bl ST ST 2
forqur frefofad % sTerem § g@fed g 8-
i. SURRT BT Ha Tl FTER
ii. fershar gervy
iii. ITHH TG
iV.W%GﬁTﬂWﬁT{%
v. FER e AT H TR
49.

An organization that has developed capacity to
adopt and change is described as:

N e TR T W uRed= @t e
Tferenftre ot e &, 39 whEd €

(a) virtual organization/ardfeis HT3

(b) learning organization/R¥tefreff da=

(c) developing organization/fehraeiiel HTa-

(d) changing organization/qﬁa?fjﬁ?l e

GET IT ON
Google Play

Ans. (b) : ST HTST 3FA S99 IR URadA e
g & o 2, 3§ e @ (Learning
Organisation) ®&d | §131 & 39 &9 H oAl 79
qeed 1 G G o T A 8, P ¥ e i
TUR F TH| 39 Yo ¥ Fer iR IRad S e
o forepfi & ST 21 S9- & =afe G 7, 99 @
T 4 3Fge iR WRad & forw €ist g )

50. The World Trade Organization (WTO) started
functioning legally on:

foavg =R WA (I, . o) F fafree

el hIE gy feRa?

(a) 1st January, 1991/1 SHad, 1991

(b) st January, 1995/1 SHe, 1995

(c) 1st January, 1999/1 SHad, 1999

(d) None of the above/@"ﬂ?ﬁ ¥ 9 & T
Ans. (b) : 99 SR F1=T (WTO) 7 1 S9ad, 1995
&1 faftad w1 S yRew foan) fag =R geA, fag
¥ R gl st H R B A AR H agE
ATl U TR GUST @1 SHS Tl Wh
gugid & ded # M| THH TEACE oA H g1 3Ed
GATT, 1947 &1 M e
51.

An economic environmental factor is

Teh 2fefeR aTdTeRuii sl &

(a) Emphasis on knowledge management
I J9Y ) Sd19

(b) National income and its distribution
QRIS CARE NI

(c) Profitability and its distribution
ATETIRAT T §Hh! foeawor

(d) Changing workforce profile
gftrepant 1 T § gRad-eierr

Ans. (b) : TS AT 3N & foewor wh onfdes
AT HRh &1 3NF amerer 39 s e
TeRid T § S anvisgs 3R SUSRH SFegR &I gifEd
FA B T HRH HE FAHE H gHMAd B Hhd gl
e arraToT fafrs SR 1 UH GASH & S Fad
T G 9T STl &1 3 HRh ST AR gensd &
Tie EER 3R @9 H & qUH i THIeT L 8|

52.

Planning job requirements has which of the
following sequences?
hTe YISt ST T ST §

(a) Job information, Job description, job

evaluation/®& =, FE avi, FE TediwT

(b) Job evaluation, job information, job
description/®d qedi®A, F T, HF oA

(c) Job  description, job evaluation, job
information

F qui, FE qeiwd, FE Il
(d) None of the above/@"ﬁ?ﬁ 7 9 g 7@
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53. As per Section 2 (68) of the Companies Act,

2013, a private company should have a
minimum paid-up share capital of:
wHT fafrEm, 2013 W UWT 2(68) %
IIEN, Tk Tl O i =IAaw Jaw 3o
(a) T 2,00,000 (b) T 5,00,000
(¢) T 10,00,000 (d) T 1,00,000
Ans. (d) : FFT IffEE, 2013 # ORI 2(68) F TTER
wF fosht ® o wE @ e =Ean wew sterdsh
21,00,000 =trar fafem g feife so@ oifie
stoTdsht & dor S 7o STt -
i, 3TS % EEAROT W Ueh o &l
ii. HEARET F DR, TE& H G& 200 % Gifee
ETuild
iii. FEA W foRe sfayfod o foaw SAar & s S
T s AR 811 [ERT 2(68)]

54. Match List-I with List-II and select the correct
answer by using the codes given below the
Lists:

TeA-1 & GE-11 & @1 & gafed sy

3ir gferat & et fag T %e w1 wEnT W wdh

Wﬂﬁ'l{:

List-I List-11
geit-1 gEi-11

A. Planning 1. Training
ERIEE] sfreqor

B. Staffing 2. Forecasting
IR REIGRIE]

C. Directing 3. Evaluating
frder ERIET]

D. Controlling 4. Motivating
EREL SR

Codes:/he:
A B C D

@2 1 4 3
A B C D

®1 2 3 4
A B C D

04 3 2 1
A B C D

@2 4 1 3

Ans. (a) : Q-1 1 GA-11 % 19 W& GoeT 9 THN &-
A. fasH 2. qatgae

B. Rt 1. wf¥reqor

C. frdem 4. ST

D. = 3. el

55. The element not necessary in each objective

under Management by
approach is:

IPAl FRT T (MBO) I®RIUT &% =i

YAk 3y | vk aed T g-

(a) cost element/ANTd dxd

(b) human relation element/ATdTE T=-Y &

(c) time element/HHI T

(d) measurable element/AT9-1T T
Ans. () : 3TShE A S 1950 § @ISl Tt deheileh bl
HAYRON HI AHHT aH F @Rl TH IR H T
IR 21 3R 9% 1954 F v gee L dfeew
AT Faom=” # SRYA g FaY (MBO) I FF€ROT
F W fFaT [T FW T IFHOT F STl TS
YT F YIS dd FEfafEd §-
i. A F e
ii. 999 9
iii. ATO el
56.

Objectives (MBO)

The highest form of democratic organization is:
TAlehdiT~aIeh TITE- o Soorad UTET &-

(a) line organization/AWF T

(b) functional organization/mm G

(c) committee organization/HfAfd HISH

(d) staff organization/®T% HISH

Ans. (c) : IHfT 13T IEY, Alhdii=rs HT3T I Isdaq
TET 21 G e Fi 9t TRt § U [ e
F w9 F TR I ¢ S favst % wEf § wwey
g+, fReE 3 frarees § R oW & ad
TSI qedi Bl agral a4 & o e

gfafe &1 fafe eyl 9 s@f & 3R W fafafe
¥ sfieT ST wH -

i, T wfufoat

ii. sreerelt wfhfaar

iii. THRTer wufaEr

iv. TH= qifrar

V. 32@3% gfefaar

vi. 3itoies wd sa=ie qfufaat
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57. Which of the following pairs is correctly

matched?
frrfefiaa ® & faa e = fies a6t €72
(a) F. W. Taylor - Human Relation Approach
T, T5c3, SR - AFEE 9 3fEahivT
(b) Henry Fayol- Universality of Management
T WA - ya F FrE e
(c) Elton Mayo- Psychological Approach
TS BT - T gy
(d) Mary Parker Follett- Scientific Management
T R wiele - a9 YA
Ans. (b) : TIERTE g 395 W Aaufed gEwoT 39
TR -
EERNIECT]
a. Th. s« EAGEN
b. B WAt
c. Teed o
d. 7 TR e

58.

HECau

CRIECRCE)

T W HrEiHeRd
T g giuehioT
TR gfehoT

Marketing functions described by Tousley,
Clark and Clark are

I, Tk Ud weIreh g afvia fauue &

e &

(a) 5 (b) 7

(c) 8 (d) 10
Ans. (¢) : 3, FAH T Tl g1 fAUUE 3 8 &
gl 8- (I T A )

foqur =
|

) $ v

5.Financing

1. Buying and 3. Transportation

GET IT ON
Google Play

77 e fefafad 8-
i. it & <ifea Trem
ii. TRl i

iii. 3T Qe

iv. STHIfT o

60.

The branch of Economics which focuses on
'what should be' is:

YT W T YT, WK <t § TR e

BT =R, wEe §-

(a) microeconomics/ZABIET 3tefvIE

(b) macroeconomics/FHFHE! e

(c) normative economics/3TERTEH TTH

(d) positive economics/HhNIHbR srefmE
Ans. (c) : IIMH H T8 UGN, ST W a1 W A 4 @
f T BT AR avicrs rderE FEArd 81 SEfh
‘a1 @ T st ¥ wEfd fERe 2
61.

Find out from the following table by which law
the firm is working-

frrifera aftaerr @ 7@ witwe fof wd form
Foram @ e & @ 82

Units of Input Total Production
T W gt T Seare
1 10
2 25
3 50
4 85
5 135

(a) Law of diminishing returns/3cafd g4 a9
(b) Law of constant returns/3cafx Reear fazm

Assembling  (ufae) (fareen) (c) Law of increasing returns/3ci gfg f1am
&) T BPstorge 6. Risk Taking (d) All of the above/39dth T+
2. Selling e a (=ifeEm) :
ffFﬁF‘;) " ( ] 7. Market Information| | |AnS. (€) : 3t9I& Ell ﬁ@- I, S 3cTas SEFIE?ﬁ a
8. Standardization e H THRA h ST AT ENISIRIES! T ITRR
59. One of the disadvantages of sole proprietory ?iﬁ&" Gl %, ar oE e § 3w éﬁ&" [ERL AN g 21
organization is: 3Ty~
TheT TETthed |6 & ol § | e o- T —— ot ST
(a) Unlimited liability/3mifHd i 1 o
(b) Secrecy/ A=A ) )5
(c) Lower cost of management 3
50 ¢ 3cfed ghg fem
Yarg S e AT 4 s kL
(d) All of the above/39th T+t 5 135
Ans. (a) : Tl Wi g §e & &1 @&g 2| || ©
o wH & =fte & U9 IuF FauE § gEtud g 135 3T St
YHER F VR Bt 8| T e wed & e ||| 7 130 3afer & frem
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62. What should be price elasticity of demand by

proportionate method if Q, = 20000, Q, =
25000; P, =% 10; P, =% 8?
g Q; =20000, Q, =25000; P, =% 10; P, =% 8
A, A utT # wwe o s G @
ferarft gt =nfew?
(a) 1.25 (b) 1.50
(c) 1.20 (d) 1.00
Ans. (a) : I Qy, = 20,000, Q, = 25000
P,=1%10,P,=%8
&, T ) e ) s
AQ P

E,= (_)_X_

AP Q

QZ_QI Pl
B, =(-) 2, L
‘ ( )PZ_PI Q1
:(_)25000—20000>< 10
8-10 20000
5000 10 50
) * 20000 ~ %0

63.

Which among the following is not an economic
problem?

frafafaa § 9 ®F- uw snfde goen T
®?

(a) Unlimited wants/3THifHa STavaehamd

(b) Choice between wants/3TaYIHAT 1 g1
(c) Social injustice/dmHISIh =

(d) Limited resources/SifHd d&me

GET IT ON
Google Play

Ans. (c) : IHHT E GoR ! fawn § Iern 1 &
TEEYUl FaH g1 T SIRIHOT BT S Frg=m 7=
¥ A I T g1 81 o guhn 37 sreferamen #
TEEY H FA B AN YO | REr dee @)
SSMHOT T FN, AW a4 Yar S &l W TS g9
fa 21

65.

The inverse relationship between variations in
the prices and quantity demanded is not due to:

Ted qGT | Sk WET W URadd & ster fauda
HISET ST HIOT TE §-
(a) future expectation/HTal ST
(b) income effect/3TT 99
(c) substitution effect/dfdeAg" JHE
(d) law of diminishing marginal utility
T AT g e
Ans. (b) : 3T a0 FIH T W G W T Y AT H
IRad= % i o T T S 2 T S SR
ferfefiaa -
i. WrEr g
ii. 3777 e & oA # gRadd
iii. SfceTaT e
iv. §rort Igfiar g fom
66.

Long-run cost curves are called:
refehTelt AT 9k Rl el ST §—
(a) operating curves/S=Tcl dsh

(b) fixed curves/RaX a5h

(c¢) variable curves/ARadT ah

(d) planning curves/aSH T a5k

Ans. (c) : 3% guE 98 guen €, Frwe g IhE
H AETIRT ¥ 8, T o, FE AR fhEs fow s
HTT & a7 ek e B9 A B 2 |

Tffeh e I B & W HROT 2-

i. st ST

ii. AT 21 AT HHTE

iii. STITABASN H IS / FHAR T

Sfeh G 3T, e e guen T8 21

64.

Liberalization means:

IS & T B $—

(a) Reducing number of industries
FEM @ T

(b) Reducing competition/Sfrfir 2w

(c) Relaxing control mechanism
fr=-a= |

(d) Free determination of interest rate
S R FH WA AR

Ans. (d) : SUF VS H TH TSN AT 56 Bl
2, THH T § SHEE AN S 1 TR e S
2| e sited AT @ H frefiad A 9 S
ST 8-

i. fT%TT &% (Envelope Curve)- 39 %% I fAHIE a6
§ FEr @1 8, e qg GN STeqHeld HEd @
T@redl & a% ot 2|

ii. IS a6 (Planning Curve)- &l 3ied T 56
® AT T ff FEd &1 TH g% Hed ¥ BH T8
TISHT ST Fehelt 2 T Searedt &1 ol wmedt 3 forg @
T e FH TN R IR A ana R) e
ST Gk |

67.

Which of the following is called Gossen's first
law?

frrafafaa & @ fore A= o1 waw e @
AT €2

(a) Law of substitution/Sferemas &1 fem
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(b) Law of equimarginal utility
Tq-Yrr Sy e
(c) Law of diminishing marginal utility
T U g frem
(d) None of the above/@"ﬂ?ﬁ ¥ 9 &g T
Ans. (¢) : 991 ST g9 f=9 (Law of Diminishing
marginal Ulitity), S straveesar Wﬁf@ N 79 (Law of]
Satiety) F& §, IU F TH oyl T g1 e S
% oWl W MR B4 % PRV g frw gdwe ud
g 81 39 Frew & wduen Seog Rgad st
TT. TA MEA A R oA o 3§ “med @ yem fem

(Gossen's First Law) 9t Fed 2|
68. Which equation is correct in the case of
monopoly?
RIS i 9T § hI=-|1 TeteRur et 372
(a) AR=MR (b) AR>MR
(c) AR<MR (d) AR=MR=0

Ans. (b) : THIHR I <30 # dwr MW (MR), eited
MM (AR) ¥ ¥ &1 21 3194,

Filf-

THIYHR F -

MR = AR (e—lj
(]

1, MR=AR(ij
e-1

ST, ¢ = AT # A"

39 TR, THIEHR § AR 9T M R Tehi 1 T AT

g W st e 2

v
D

D=AR

MR

Q Qutput

69. Demand for comforts is:

T Y a3l sht Wi 2relt &—

(a) highly elastic/3TafH AEER

(b) elastic/aEER

(c) inelastic/3Ta=R_R

(d) None of the above/@"ﬂ?’r? ¥ g g 7@

GET IT ON
Google Play

Ans. (b) : FINW 3R felfya 1 o@g o G& @l &
for 9o ofd & gfe & Ty diwm i dR-R e
21 wam: 39k qod § oAid S g W I wi st
9 S 8, T Ut asgei @ A creen @ 81 s
5 aegell i S swEifar § dR-eR fiEe e g,
IHSH! A AER B 2

70.

Malthusian theory of population is based on:

STHET i HTeww fagT e €-

(a) law of demand as applied to population
i % fored W, S SHEE WA 8 @

(b) law of diminishing return as applied to

agriculture/SH Sfkel & frEm W, S
M W AN el B

(c) law of marginal utility as applied to

agriculture/SMAT SRR &% fom w, St
F R A e 7

(d) law of marginal return as applied to

population/&Sd=  wfher M W, S
SEET T AN BT @
Ans. (b) : SHEET F1 Ae¥E g g9 Sfa%d &
fram ® emifa 8, S 5 FF © ar e 81 Ao 3
A A R fade & emeR WS fswd e,
SH Houg 1 SEEN g sel S 81 gue e
A 39 TR 2-
i, HE-aTEAT 3 Gy § o 3 Sfe Ty |
ii. et geqer 3R HHic % Hew dign R S
Ty 2 |
iii. 7757 1 Sfed A & g dio 1EvEs 21
iv. B & IeEd g fEm @ g 2
71.

In perfect competition, the demand curve of a
firm is:

gut gferaifiraT ® wH Rt /i ook

(a) Vertical/eT¥aq e 2

(b) horizontal/&iferst rar &

(c) positively sloped/gdTHE &Y g EEN 2T 8

(d) negatively sloped/FUTHE &Y g EI 2 21
Ans. (b) : gof wfoeifir & wd &1 AT 9% X 3 &
TR i &fost g 81 G ST qen sied s
TR SR el & |

¥

i

Ppb——  AR=MR=P

A
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72. 'Reasoning from the general to the particular’

in Economics is called:

aredorer # ‘wmr @ fagie % fAT aeh 3

HET T

(a) deductive method/fie=TeHs Tgfa

(b) inductive method/3TTHATHSE Tgfd

(c) experimental method/FATTHS TZfd

(d) None of the above/3udt H & &g el
Ans. (a) : 39vE ¥ “OM= ¥ R % AT a6
e Tef % srla Wit dar g1 FEEe
gfa § qd foifa fagma @ 9w 99 9 @& §fF s
TR forsTy e i ywfora foham e 2 |
I S el % SR WA %o g §, R T A
g 1 foraa g 2
73.

If price of any commodity decreases by 20%
and the demand for that commodity increases
by 40%, then elasticity of demand would be

Tfe ferelt aeg st Timd 20% HT T § 3R 37

GET IT ON
Google Play

Ans. (d) : g v wd diftd g el faEn
YT % gHdE . e T e i ot wrew afed
diftre qreFl, A% dofeqss 3TEM 81 €, % fage & &9
q gt fan @1 Tferw & oRwm sifues awe @
i I8 Y T Q. AT B & T8 ! A
w0 § S 5 sefore & faww gl @ AwEd emeR
TeH H B

75.

One of the essential conditions of perfect

competition is:

ot wrerert 3 for srframe oAt § ww -

(a) only one price for identical goods at any time
fordt ff T9a §9M 3@ & fT 99 T g

(b) product differentiation/3cdTg f¥=far

(c) multiplicity of prices for identical product at
any time
foredt off omg Tm 3R & fou fafvs ge

(d) many sellers and few buyers

o T T 35

TR AT H 40% gheg Bt &, A AW A A=

Bt

(a) perfectly elastic/{lﬁﬁtﬂ dreER

(b) perfectly inelastic/‘{“’fﬁm TAER

(c) unit clastic/3HE RN

(d) highly elastic/3Tef¥E A=RR
Ans. (d) : a2 BT 9% % FHT 20% B9 A T K
g wT H 40% 3fg B 2, @ A A aE et
@R Bt
(_) % changein quantity demanded

E
‘ %changein price

40
Bo=(-)=g

E, =2
3 B, 3Tcfteh eeer g |
74.

Economics has been defined as a science of
unlimited ends having scarce means having
alternative uses by:

srefymrer @ it e wfya Hifa @ret,
Teh dfeueh STANT B §, o o= & ®0 |
et feram &—

(a) Adam Smith/Tsq fog 3

(b) Alfred Marshall/3Tehs AT

(c) A.C.Pigowu, . 9 7

(d) Robbins/Afs=g =

Ans.(a):@mwaﬁa@ﬁqﬁé, EEe
et w9 F 3 fRivard 8 8-

i- SR F THEY THEAT

ii- GHH IE, A oI

iii- shareal d feshdreti & sgd ae! §e

iv- STE F U7 AEER AT

v- M HfawEl a1 g & sTuafd

vi- AT % FA T e S W

vii- g3 SR I % FWH P ot Aferefiern

viii- TR &1 aRRafrE F qof 9=

ix- GRad= qgr ot arTdl $ stfermmmEa

76.

Which condition of the following is shown by
improvement in regular declining price level?

T W W B areft fFafia finge & gaw

ferm feafe =y gl &2

(a) Inflation/qErwIfd

(b) Deflation/qsT-Hpe

(c) Reflation/qgT-Hehifd

(d) None of the above/@"ﬁ?ﬁ 7 9 g 7@
Ans. (c) : ¥ TR # g @l fafim fimee § R
TST-TTHI (Reflation) i Refy i gwfer 31 g v=ai #
TR Hge @ Raft @ gERa & fau SmEw X g
& aen § gfg & I 2 i aegelt 9 ani & gor &
Fft F S 2, T IR TR gt 2
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77. In the process of disinflation, the rate of

inflation:

TST-STUERIT ht WiEhaT § ETERITT Rt TX-

(a) decreases/=edl 2

(b) increases/agdr 2

(c) remains constant/fg¥ &t 2

(d) None of the above/@'{[ﬁ? ¥ g i T2
Ans.(a):waﬂﬁﬂﬂ-?ﬁﬁmﬁafﬁéﬁ@
= TR R A b I qar A qEn § w5 A S g,
9 ger-Toeif a1 S 21 g1 STt & wher #
HET-THif st = Al (Decreases) 2
78.

Which of the following would be treated as
'worst money' according to Gresham's law?

o % PEm % o, B § ¥ wA-w
‘wew g g’ get?
(a) Representative paper money/Sff=f& ST
(b) Convertible paper money/trﬁaﬁ??ﬁﬁ REL M
(c) Non-convertible paper money
SAREdRITe T
(d) Fiat money/dTfa® 1
Ans. (b) : T 4HY ITW 7 TR Cforsay i e
el & &9 F S o 7 w0 g5 R Gt T 2,
T 3T g1 I "o § el et 2t 21 Jvm & frem
& STER SRad-Ria qa1 Tad i q31 8nft |
79.

If bank rate is reduced by RBI, credit cration
will be:

fisd o g ok X A Y HE | WE g9
(a) reduced/H FHt grft

GET IT ON
Google Play

80. Which of the following banks stimulates the

agricultural and rural development?

forer & @ SiF-AT A Sy wd anfior feerra

WeETR T &7

(a) EXIM Bank/ufe=m s

(b) Exchange Bank/fafma s

(c) HDFC Bank/td. 1. Th. &, §%

(d) NABARD/ATETE
Ans. (d) : T $ wd gefivr g §5 (NABARD)
F g AT s 1 SR B 81 i ud Ao
foe & forw afig 9% e S T 12 A 1982
EAR NG I 1 G HIRES (0 e R N 1 | 1] L S
ey § wod o weer @1 nfir st o gferd
T F & H 1995-96 § 2000 FUg TG T IwiOr
XTI foehr I S T & T SHR HeTe
Trare g fopam R A
81.

Which one of the following is not a method of
credit control?

= 4 ¥ ®F-u1 s 9w e @ su
& 2?
(a) Bank rate policyfa'?m" g Hifd
(b) Open market operations/Gel JTSIR & feramd
(c) Cash reserve ratio/7&g ¥ 3Tard
(d) Credit deposit ratio/dd SHT T4Td

Ans. (d) : T8 =0 F yq@ 39 ffafed @8-

v
¥ ¥
HHETHS TSR
{Qualitative)

(Quntitative)

(b) constant/RerR Wl R | i
(c) increased/H gfs gt gy A _
(d) None of the above/3Tdtw H & HIg el i ‘fmﬂ;ﬂ F—> Ao i
Ans. (¢) : R9d 5% g0 6 X § F0 F § gRI g _ﬂ_w WESLR)_)WMW
¥ gfg et 9% = Aift T g W e @ #@ i o i) e fead
sy U wEeyul fafy &1 g% &, 4 W 8§, g W o
fepelt ar =1 W a;%’ SRS S Bl FH o 82.  Which one of the following is not a function of
wigpd Sfafel @ STHEG W RO TE B 2| g6 HEr Central Bank?
#! & (Discount Rate) *ff &d &1 Frrafefiga # @ S=-91 H=lia ok ot o T2
arg-frmtor 7?7
¥5 = § 3 &N W § FH— RS TH § T (a) Monopoly of issuing note
S - O S (b) Credit <.:reat1on/HT.@’ “Hiu
(c) Custodian of foreign exchange funds
v e ara o et fafamrr st 1 s
(379t S & A FH TR AR H GIE 2) (d) None of the above/3Td® ¥ § &I &
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Ans. (b) : =0T d% A & HifgH JoTCl H Fared GET
21 3w Y Aifss AT B gem qur frEEr gHE gl
Tequl A § 9T % FAF §F (RBI) B ¥@ e
39 TR B-

1- S Fgar e AT 1 ThIee

2- HEHR H T

3- Sehf &1 S

4- 9@ =

5- feraaft fafemar i 1 Gere/ TReToT

6- 9rg ferdieptor

83.

How many letters and digits are there in IFSC?
TS, U, TE. W, W feRa 31am ST ik B €7
(a) 7 (b) 10

(c) 13 (d 11

Ans. (d) : IFSC &1 U 9™ "Indian finance system
code" (TR forftr soTeRt Wfer) 81 T8 & UH S wiw
w1 I Pl A 21 A 11 37 I IR e I
e % &Y § YA T §% H IFSC 59 THR 2-
PYT MO 123456

four character six number

- —— (For future) P

(Sl gfee)

84. "Money is a standard for deferred payments."

This function of money comes in the category
of:

‘g Tl e % AT T wEew R Os
o1 I hrd e Soft o & feRerd ot £7

(a) primary function/TgfHeh Frt

(b) secondary function/ATEAHe i

(¢) contingent function/3Teh&eh Hrt

(d) Other function/3T T4
Ans. (b) : “TgT @ = % U o 217 98 a1
F1 At a1 faftrs w9 @@ 81 9 & F 39 TR
21
vzl & FE
¥
4 { ) v
o FE e s s w w7 F14
oy e > TEET [ T A T 4
T AEA 7 faro AR
] o | 5 % > HE & irl_hh _ﬁ[ e
el & WH Tt T B
AT
> oy #f
BEAT

GET IT ON
Google Play

85.  Online banking is not known as:

AT SfhT vt e | @ forw w7 § @
EIECE ¥
(a) Internet banking@%”\_}ir e
(b) virtual banking/ag37e Sk
(c) e- banking/‘st-a‘%"f
(d) instrument banking/SﬁTrlTI AfhTT
Ans. (d) : 72 ST 5@ ierET d@feT & wed €,
TAFT P JUTeh § S S A1 37 fig Hee %
Igehl ! foriia Heen 1 dedEze & e ¥ fafia o
T H TH F@ell H GEH H A GEH aqE 2
SR ST SO H FrEfRad &9 § S -
- gUe SffEhT
- ageret ST
- $-3fhT a1 g Sk
86.

Which of the following is not the plastic
money?

frrafafaa o @ SF-d wnfes g3 TE §7

(a) Smart Card/@e e

(b) Cheque/

(¢) Debit Card/2fae F1E

(d) Credit Card/shfee H1E
Ans. (b) : TS 3T (Plastic Money) T THT T2 &,
o 3w e 39 wifes & 9 Fef & e §
foFar ST @, e SWET &9 arfas S ARl & e
R IR F &1 fed g3 % oS §Y &-
1- efoe &€

2- hfee e

3- &9 e

4- W-TT F9 FE

5- WR #e

6- T FHE

Note :- I8 e WS H o &l &, THAT 9§ THH
W s quT I 7

87. Money which performs the functions as

medium of exchange is called-

TaT, St ferfrer 3 wmeaw % w0 # s Wt §,

FHECATA -

(a) commodity money/a%&] HT

(b) accounting money/TETEH ST

(c) real money/ardfesh HgT

(d) None of the above/39dt H & &g el
Ans. (¢) : T S fafomar & mream & &9 & S B g,
ATl qR FHEel ¢ gW VRl §, adas 4% 98
T @ S fReh 3w A # sefem @ @)1 faaes qen
Al anfas a1 B §1 HT J aTdfas a1 & A
# fer -
i- gard 437 ii- wfaffr g

UPPSC LT Commerce, 2018

191

YCT



Adda

4|

88. Which of the following

exchange for import goods?

oI & A & e # frm # ¥ wm=-w
fereeft fafoem wiega wear 2

(a) Exchange Bank/fafam s

(b) Reserve Bank of India/9RdTa fiord o

(c) Ministry of External Affairs of GOI

(d) None of the above/?fclﬁ?ﬁ 79 T8

Ans. (b) : WA & @M & T ¥ 9 fod d%
(RBI) faaeft fafeme wiigpa & & fisd o 3w # fageft

sanctions foreign

GET IT ON
Google Play

91. If median = 54 and mean = 60, mode will be-
Tfe wfaeht = 54 3fR AEA = 60 &, A qgAR
BRTT-
(a) 40
(b) 42
(c) 44
(d) None of the above/@"ﬁ?ﬁ ¥ 9 &g T
Ans. (b) : If, AfRFSH (m) = 54

e (X ) =60

t aga® (2) =2

Ot & 7 g g B e e 81 SHE Geged s
T # HIRT Fa 21 el gEed & S Red 9% %
R & g € o 3 ¥ @ off g Su e
g & fRar ST g 2|

89.

When supply of money declines, then price of
goods:

W& gE @ Rl A A A ¥, qe owgett

-

(a) increases/gd &

) decreases/Sdl &

(c) remains constant/feX T &

(d) None of the above/@"ﬁ?ﬁ ¥ 9 &g T
Ans. (b) : 5@ g1 1 ff § FA IR T @ aEge H
Frad et &, S g5 1 g § 9fg a2, a asqe
I FAA TG I B |
51 & R g & SER o A e @ W
afE qz1 % oRAT § ofads & 8, @ qE & gt § of
IR 2T 21
90.

Regulatory authority of regional rural bank is-
st Tmefior ek st forame e @-

(a) NABARD/AETE

(b) Central Government/&H=1a TEHR

(c) State Government/TsT HIHT

GIER Z = 3M-2X
Z = (3x54) - (2x60)
=162-120
=42
Mean Deviation is which part of Standard
Deviation?

e faere, aHes e &t hig-91 9T
BAT?

(a)

92.

(b)

(©)

(d) None of the above/37dt H & ®Ig el
Ans. (b) : A&7 fd=e (M.D) #F& fa=es (S.D.) dr
wqdle e % wen FrAferad g g 8-
4 SD = 5MD = 6QD
HAq 4 A9F fomed = 5 WA foRem = 6 uqd®
[EEKE

Al LA BMlw

i, mren fomed = % Wﬁﬂﬁnga@%ﬁaﬁ?

(d) Sponsor Bank/Satie EE 93. In a place, average rainfall was 6 cm during
Ans. (a) : St AT S S wTO CRiEn wiR Monday to Saturday. Due to heavy rainfall on
(1975) = frEfei F STUR W 26 RAWR, 1975 FY Sunday the average of the week was increased
S ST ST sEARe ¥ aed A 1975 F & T to 9 cm. The rainfall on Sunday will be:
i1 e&f grfor S eifufEm, 1975 % Wew ¥ =W el w0 o0 W § AR T A Sl
o F SR TR e s 4 od F e ot 6em off| Wram @ erefies Tt % &R
ity ¥ @ RfEE T B s v fe 67 T TATE T 3HEa IRt 9em BN TN TaaR
(NABARD) & g feham i &1 =t aul grtl-

gft Arfor Sl H TEed 9Rd WER, T (a) 25.5 cm

TLHR 3N TEH S5t & FgarT & fhar i 21 39 9% (b) 27 cm
¥ WG WHN, TS Sl qgr Hefta Tsal & e (c) 28.5cm
AL 50%, 35% I 15% 21 (d) None of the above/ST4th § & g &
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Ans. (b) : SHER ¥ AR T a9 & 39T = 6cm
l GHaR § WHER @ FA a6 = 6 cmx6
=36 cm
MHaR & At ool & HNU Wdedh SEd au = 9
cm
9 cm 3T TN B W HHAR ¥ FHER T et aut
=9cmx7
=63cm
i, @R & g8 Fa a9 = 63cm - 36cm

=27 cm

94. The mean marks of 100 students were found to

be 40. Later on it was discovered that a score of
53 was misread as 83. The correct mean will
be-
100 BTT & UTTehl oAt @ 40 fepem Taw
g o1e ¥ YT g3 o Uk wiwies 9 § 53
& T W 83 Ug ToTam T aml YTg WIeA ENh-
(a) 39.7
(b) 39.8
(c) 39.9
(d) None of the above/@"ﬂ?ﬁ ¥ 9 &g T
Ans. (a) : 100 DET & ST &1 3HET = 40
dl, 100 BE F FA Wb = 10040
= 4000
fohq & Wi H A AW 53 F WH W 83 Ug fomn
T, @ T e H AR 83 & TH W 53 Tgl SR,
Bl i = 4000-83+53

=3970
S 100 T 1 T s = Sl
100
=39.70
95. Reciprocal of 0.062 is-
0.062 T IR §-
(a) 0.1613 (b) 1.613
(c) 16.13 (d) 161.3

Ans. (c) : 55t ToI & A (Reciprocal) 8 H&AT &I
g, 1 ¥ I YA F OGN I Y IUEH B 2
SRR
1

0.062 F ZJoHH =

=16.1290

=16.13 (Approx)
kA I & TET § R STEM § 1A f6am ST
THA 1 BEH AEA H M F T oA qfer H

3TN fFa ST AR

GET IT ON
Google Play

Which relationship is not correct?

HIT-T T TE TE 8?2
(a) Z=3m-2x

96.

(b) M:%(z}—Z)
(©) ;=%(3m—Z)

(d) ;:%(Zm—Z)

Ans. (d) : FAFR T X 3R AT (m) @@ 89w
TGAD () TV T ARG G 1 AT B g
Z=3m2X oo, @)
I 3m=-2z2X
1= y
a1 m:§(2X+z) ................. (i1)
F2X =3m-z
il i:%(m—z) ............... (iii)
Note :- ©¥ 2 % fosheq (b) T (d) a1 98 &1 |

97. Standard Deviation is calculated on the basis of

ek faere= el AT feRd MU UT ekt ATt

3?7

(a) mean/HTeT

(b) median/HTEaHT

(c) mode/IgAHh

(d) None of the above/@ﬁ?ﬁﬁﬁﬁqﬁ
Ans. (a) : T9% fq@ad &t ywftrs fa=es (S.D) ot Fad
21 gHS WA W (o) g o6 A S 81 e
Vi & g # AFe faue qaifaes STarh q=r S
21 WM fomeM &1 GR@ # S0 1 aige (Square
Root of the Variance) ff g1 <1 &1 A% foera &t
UM AT o AR T A ST 2
98.

Coefficient of quartile deviation is calculated
by

Tgedeh foreret TuTieh it U o ® | feRdeh
BT I ATt 272

Q3 B Q] Q3 + Q]
(a) =7 (b) =5
Q3 + Q1 Q3 - QI
=3 =l d) ==L
(C) Q3 _Ql ( ) Q3 +Q1
. _ Q3 _Ql
Ans. (d) : T4 fo=@= (Q.D) = —=

Safes agde fames e = —gigl
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99. Mean Deviation is equal to
e et aRTeR BT &
5 4
2 6
© EQD (d) EQD
Ans. (b) : 7% fome, wred fomem a1 wqds faaed
& "oy fpffiad wwmr g S 8-

4SD = 5MD = 6QD
HIT 4 A9 fomem = 5 A foued = 6 Ggd®
[EENE

T, WWW%W@WZ% aqde foaeH

0 MDz%SDz%QD

100. Which of the following is a relative measure of
dispersion?
STUfeRTuT ST TTAST AT fferiaa # & =T 872
(a) Standard Deviation/d-ieh ferret
(b) Variance/fa=tur
(c¢) Coefficient of Variance/fe=RuT 1 0TI
(d) None of the above/?fclﬁ?ﬁ ¥ 9 B T
Ans. (c) : TIUT AT T 9O H IHE H 2B T B
TS U A UMY F €9 F = @ 31 e &
TrUeT A9 I STUFHT 0TS (Co-efficient of dispersion)
o T 21 TR % W 7 fge A fEfafed -
e Wo- R e, wqds fame Tuie, wed
ferarer wqurieh, ST fore MUl der feRROT 1 Ul
ElIEe
e foere, SEY foeed, aRg a9
101.

"Statistics is the science of estimates and
probabilities." This statement is given by

“gifeent ATAT R wETETSAT 1 fome

B 9% ®HAT I AT &-

(a) Webster/a@TFE'{

(b) Bowley/aSdt

(¢) Boddington/aifgTe

(d) Seligman/afermia
Ans. (¢) : Gifsl fog aifmeq wiea 3 diftegs &
Tgpfea wRamn 39 g7 formn & 5 “wifers sEEl @
dureett 1 fame 81 g2k wifers & am @ difta
A gC 3 Fad fage 991 8, T 5 Far ok fawe
T
IS & ER- Tt M i fawE g1

GET IT ON
Google Play

oI, e % IER- “Hiferl a8 fawe @ o fd
YN & &§F T THR ST o [0 HAHE Ahel &
T, WeqeReoT, Fffehter, qon @ fdea s dfaet &
TANT BT 817

102.

If variance is 625, then Standard Deviation is
Tfe feremur 625 &, |t " T g
(a) 25 (b) 15
(c) 30 (d) 20
Ans. (a) : fRRUT (Variance) 3T o f=eq (o) 74
ferferfiad e g 8-
Variance =G 2
or o =+/variance
@ o=625
c =25
103. A shopkeeper wants to stock shoes. The best
suitable average for him will be

Tk GHTER Al T Wieh il oTedl ¢l SHoh

T Werd SugeR HIEA g

(a) arithmetic mean/3{eUT e

(b) median/HTEaHT

(c) mode/sigcTh

(d) None of the above/@?i?ﬁ H 9 i Tl
Ans. () : T HER Sl F Wik T =@l g,
T I Wl SUh Ied agersh B, s T S b
AP I TEEARA AR BN, THARR W d H SAEE
AT H 3T wie # Wi
104.

If median is 31 and arithmetic average is 33,
the value of mode will be

AR wifemeRT 31 3R Tt ofvea 33 &, @

dgcich (mode) hl HIA AT
(a) 37 (b) 27
(c) 29 (d) 32
Ans. (b) : f&T 2-
ARt (M) =31
Tt W X =33

o, JgAF (Z)=3 M -2X
dqA Z=(31x3) —(2x33)
=93-66
=27
105. Which of the following is not a mathematical
average?
frefefiaa & @ wF-ar it wes =& 872
(a) Arithmetic average/¥HT=<I{ HIEY
(b) Geometric mean/TTmI qreg
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(c) Harmonic mean/3UcH% HIET

(d) Mode/sigeteh

Ans. (d) : T ad S gead: & 9ri # afer s
2
A - TR Heg-(Mathematical Average)
i- T aitea a1 FERR AT (X))
iii- IR A (G.M)
{ii-g0cHF AT (H.M)
B - fgfa areg-
i- W&l (m)
ii- FEAF (2)

iii-fawrs o

106. If the first quartile is 142 and the semi-

interquartile range is 18, then assuming the
distribution to be symmetrical, the value of
median is

afg gad wgd® 142 § AR rg-=wagds
forear 18 &I, sies sl GuiHd WA ¢, WIkEeRt
T g
(a) 151
(c) 171
Ans. (a) : f&r g
799 IqdE Q, = 142
g 2@94‘% (Quartile rance) = 18
ar mifeerer =2

3R =qd® R = Q:-Qy, Q, =Q, +

(b) 160
(d) 180

IQR
2
18
37 HifeeTehT = 142+[?j

=151
Note- Q2 4T m &l HIF FH &Il 2 |
107. The main object of auditing is
3TeheTUT T T 39 &
(a) detection of errors/3f&&1 T Tal AT
(b) detection of fraud/®9e I TaT ST
(c) to find out whether Profit & Loss A/c and
Balance Sheet show true and fair state of
affairs/J8 TaT AT {6 om9-gif @ wa el
forgr @ wd sfd Rfy 1 weia # 2

(d) detection and prevention of frauds and

errors/®USi Ta [T T T THIAT qdT Uebell
Ans. (c) : 3REITT HT TF ILTI AT UAT AT eI @ b
A9-g @ e onfis fagr wd wd 3fua Rafa @
YR O 21 S H 7R @ o @ o e
e € 9 =R w9 3 Refy @ e w g

GET IT ON
Google Play

39 YPR T VI & T<d fedd fha
goal, quidr dor feEged @ FF WW # SE
Ioag 37herT R # fepam STl 2
TETE 39T
i- AT &1 war I
ii- YT T AT AT

iii- Afd IWE ST WA SIS

108. Propriety audit refers to
Sffere SoRaTuT AT aTeud §
(a) verification of accounts/@Tdi % g g

(b) examination of accounts of sole proprietory
institutions
TH WG are deel & @ @ s

(c) examination of need and rationale of

expenses
= SEavIhar adn St A ST
(d) audit of government companies
TN FHHfE & SToherT ¥
Ans. (c) : TRT 3R (Cost Audit) F T&a: d T8
-
i- ST 37ET0T (Propriety Audit)
ii- fTqUTAT =1 FETCIT 3ikaT (Efficiency Audit)
Sfifered ieheror o ard =t F avasdr qur i
# e § 31 TR ved #, e sieheror gRI A@n S
2 5 Pl = sifenfes o9 e e @1 @ &
Td H SHR 91 7 I ¢ 5 TG srgar e defers
37§ T L A H T S Gohell 2 6 T
109. Vouching implies:
THTUT -
(a) inspection of receipts/THIal a1 foeror
(b) examination of vouchers to check authenticity
of records/Rerefl & wmiforRar &t S & fou
SHIOTeRT T TeoT
(c) surprise checking of accounting records
waifhd Repret &t s sie
(d) examining the various assets
fafers Seafeal @1 adveror
Ans. (b) : SHIUF & 3f=ia Reprst &t smifvTs Sig % forg
YT b1 GeTT AT ST &1 SHIUH & fwid JRE
T T § U T Aw % e ¥ S F%h
G F T, YEA SR AF S BT Gd WA A
21 9 s § o S S S S 8, S YA
T A YEW H f @ S 8, a4 3Eh MR W
fohT T At # Tear ST Y S gkt €
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110. Purchase Returns should be vouched with the
help of

HY ATTH T YT feRam ST =Ry

(a) credit notes/shfEe A |

(b) bought notes/shd qecq

(¢) goods inwards book/ATel 379 &l &

(d) cashbook/AFg-a& T
Ans. (a) : F a9 F&T HT FHOH-
& 091 W@ %9 A9El 9@, THeRl & @id ag1 A
el qEw, [od TS, WE S 93 (Received Credit
Notes)
TioT ST - it AW 9, A1 e 9 1 9E-oe98R
Note- 5 a9l & sact fagharell ¥ e Sfr o (Credit
Notes)a?qam@ﬁaé“fa?rsrﬁ@a‘fﬁsﬁawm,
55 foreor g9 2 =few
111.

In respect of forfeiture of shares, the auditor
should see

UM & T & G § heTeh ol @Al

“rfe
(a) Memorandum of Association/arsa FTfm
(b) Articles of Association/dmdg SF=fam
(c) Chairman's Speech/3TEa&ia w07
(d) Duties of the Accountant/RauTesh % e
Ans. (b) : 3T F BT & T § 3iheTH HI HHAT I
UNE SHAE @A ATl WE & FH 6 9
srftom § g w9 § frefefad sl &1 qEEe e -
i, FA Afufem S owed gE gRe ‘I fhe g
% @ et
ii. T % W g AR & ARA &k qF FT T
el o ferawor
iii. STeTgST o fafdE R
iv. 33 % faaeor s & fafy
v. IrEET 3 AR 9 wiftq S fafe
vi. 31 ST 97 S & ) fafy
vii. 3 & FOT F GAAIAA @ &
viii. TS % SAYHR T AAHR
Ae- 29d A & WH W gHE F<Hed & faw s
Afafrem 2013 # o9 29 F 3@t SR 21

112. Which of the following is called backbone of
auditing?
frefofan & @ R it ® fre # g
T ST 77
(a) Routine checking/ﬁ?ﬁﬁ Skl
(b) Internal check/3T=IR Tha™

GET IT ON
(c) Verification/Sea
(d) Vouching/9HT0T1 H
Ans. (d) : SHIUH T 37Reror & S5 F gl Fer o 2
YAUE Y o S ed B e g1 A siher
YOO % B H IR G F Ad @l A H B
g & S 21 e & el at & forw wwem ww
R AT ST 21 g9 HRO T8 FE ST 2 b SHUM,
siheror 1 fig g 7
113.

Internal control covers

srr=afier fee=r o gmfiret & §

(a) statutory audit, internal audit and internal
check/deNfeh  Sihetor, SR 3ieheyur el
IR =

(b) internal check and internal audit only
HIe MR S qAT AR STehequ

(c) internal check, internal audit and physical
control of assets/3Re S, 3R Jhequr
e gt 1 ifis g

(d) internal check, internal audit, statutory audit
and physical verification of assets

IR S, SATdRe ieheror, Jenfae feheror
T gt i wifee Fero
Ans. (b) : 3R fE=wT § o=afie g dgr =R
FHR0T H WA fHA S 21 SR e
arares fderor qem rar wderor SmEnstl/ famv wafet
T Ied TR & dEA@d § weld fed & qamaw, feo
AR & Bieg W F HEiedl & &, SRGH Jowe
TN SEATASIehL0T  JUNfetdl ol TXCAlohol  qo1 3
Fraferdt HERThe A § e Wi g
114.

'Protection of investors' is which object of
auditing?

‘farfereirsTent sht TR&TT' STSRATUT T hI-HT 39T
¥?

(a) Social/gTHISTh (b) Economic/3Te%
(c) Primary/steifiish (d) Subsidiary/9gTaH
Ans. (d) : “Tafasal it g’ i #1 9o 33
& orid WA da 21 gEe R I a1 wa
H UeheT SHHEIUT H GBI 29T 2|
Note-mmﬁﬂmﬁg@maﬁﬁﬁ%
3 WEHF T Fad 2

115. Under vouching, checking is done of-

YUTU & STl Sier sl ATl §-

(a) books of elementary entry

TR T &I b
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(b) final books of accounts/3Tf+<TH T &l

(c) Balance Sheet/3mfde fagr &

(d) All of the above/3ww H+ft
Ans. (a) : THIUH & TG @0 FRAEH @l Qs i
St o I #1 SR R fewma-Reaa o qeE
A H T FTAT 9 Heequl S g 81 YU ¥
TG S YEA F FHE B | TV & I A S
et & 21
116. For Tata Company Ltd., auditing is-

1T AT ot o feTu siekerTT 3-

(a) necessity/3ATaIHRAT

(b) luxury/feret¥ar

(c) symbol of prestige/IBcTeh

(d) necessity and luxury both
MEYAHAT TS fenfar <=1

Ans. (a) : TRT S fAHETS & TT TRy Saveshdr
21 s 78w ifTEm % g eEvas fhAr wn
2
i. BA-HUL H AT A U FeFh
ii. Hrd-emar & gfg gnft
iii. @AM &1 HheH T iy
iv. fafte 31wl &1 3TN i § WEES
v. SAfaffaaeT & =
vi. AT R e # gfe § weEe
117.

In vouching, should be

compared with

T # da9 e @ fuem feer s

e

(a) payment book/TTdTd T "

(b) cashbook/AHg-T& &

(c) wages registerfq?r{ﬁ =T g

(d) cash voucher/%g aER §
Ans. (b) : TEUH ¥ g9 R H A= Uhg a1 G
fopar ST =R, e 59 & & S I B §
309 & &9 H fhdH Tohe 1 M a1 72 21

118. When the audit is conducted regularly or
irregularly throughout the year, it is called as

W 3TheUT T S1E ot e Al
O Y T WX A @Al ¢, @ 3 HeT e §

(a) continuous audit/STd feReToT

(b) statutory audit/denfe 3feheror

(¢) internal audit/3T=ie 3heroT

(d) interim audit/3T=H 3HeyoT

salary register

GET IT ON
Google Play

Ans. (a) : ST9 3{ReT0T &1 1 AT ot At &9
g g | EISERE g, @ 4 HT—IT—LW (Continuous
Audit) Fg ST 8| TURTHA ST GEASdi qgr S 3yer
o= o weens § @ sihewT Maves @ g1 W
sfeperuT 3fe WrAee, e, W e 2

119.

"An auditor is not an insurer and all that he is
required to do to exercise with reasonable care
and skill." This decision was given in the case
of

Uk 3R sfireRat W ¥ ot @ Wt ww
HET & 9% Sfua T@urer iR wiver & W@y
HET 2 T fuia 3w faenre ® fean =
(a) Kingston Cotton Mills Co. Ltd.
e #ie fiew &. fo1. & Al |
(b) Allen Craig and Co.
U 7 T &, o AW #
(c) London and General Bank
o 3R SR S % AW H
(d) None of the above/@ﬁ?ﬁﬁﬁ@%‘?ﬁ
Ans. (c) : ded 3R LA S % qmed § g7 fvlg famn
T T ST S HeAl AE & S 3H ST F B
? % 3fud I S e & W FA 817
120. Economic environment includes
anfefer uterur # |ftaferd §
(a) saving/ddd
(b) investment/faf=amT
(c) price policies/qcd Hiferar
(d) all of the above/3T® T+t
Ans. (d) : TS SHfeEE § 3Iaed, sSuwn, fafa,
T do faawor &) sfpard = wdt 8, R sreferasen
Staw ufpard o stferEad e S 21 g S
sisparel % aRvreey e s & i g 2
AT & fou @4, FREH, sEeE, @d, fatm &
foe g@m el "veww, famo anR, few & fau
St qen forfe Semd omavEs B @1 Wg H @,
St du FEaeR YUt wd s, s ud
Aifeet genf B 9 9 ¥ g e S 81 s 9e
deorsi @l e onfds efer @ onfis gafawer @

fomfor e 21
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